@ 6t = 6000000 g @ 500kg = 04t
@120000g = 1200kg @ 0.03kg =30g

® 7000g = Tkg

1t = 1000 kg = 1000000 g
® 120000g = 120 kg
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D)0.3km? @ 0.3ha ® 300a

@ 3000m? ® 3ha

B

T e 92 1A A vlus) FYrh
@ 0.3km? = 30ha

® 300a = 3ha

@ 3000m? = 30a = 0.3ha
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@ 3t =3000kg

@ 2t = 2000000 g

® 0.65t = 650kg
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@9000t =9kg
@ 0.6kg=600g

@ 9000t = 9000000 kg
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D (17426 +26+19) +4 =88+4 =22 °C
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D (164+19+20+17)+4="72+4=18 °C
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(944 88 +97) + 3 =279 = 3 = 93(H)
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(84493 +90) + 3 = 267 + 3 = 89(H)
whaba], Bzto] 7t 93 — 89 = 4(H) o EHYh

iz




